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1. This paper consists of two sections, Section A and B.

2. Section A contains 10 MC questions, each carries 1.5 mark, Section B contains 3 essay type questions. Attempt ALL questions.The total score of this test is 39.

Section A: Multiple choice questions (1.5 mark@)

1. The cross price elasticity between good X and good Y is a positive figure. An increase in price of good X, ceteris paribus, will lead to a/an _____________ in the total revenue of X and a/an ___________ in the total revenue of Y.

A. fall; uncertain change




B. rise; rise

C. uncertain change; fall




D. uncertain change; rise

2. In the last summer, Hong Kong has experienced a very wet summer. The heavy rainfall has disrupted the supplies of vegetables from southern China. This has

A. led to a fall in the average use value of vegetables.

B. Led to a rise in the average exchange value of vegetables

C. Led to a fall in the marginal use value of vegetables

	Quantity of X (units)
	TUV($)

	1

2

3

4

5
	12

22

30

36

40


D. Led to an uncertain change in the total use value of vegetables

3. The following table shows the total use value of Miss Ho towards good X.If the seller charges her $30/unit for 3 units, she will buy

A. 0 units



B. 3 units



C. more than 5 units
D. insufficient information to tell

4. Which of the following statements about the effects of transaction cost on exchange is false?

A. The transaction cost will reduce the quantity transacted

B. The loss from the reduced transaction will be completely absorbed by the middlemen.

C. The existence of middlemen help to reduce the transaction cost

D. When the transaction cost is borne by the seller only, the marginal use value curve of seller will shift up.

5. Mutually beneficial exchange will take place whenever

A. two parties have different endowment.

B. one party has a surplus and the other party has a shortage.

C. the marginal use value schedule of two parties are different.

D. the marginal use value of two parties are different.

6. Which of the following statements about use value is true?

A. when a good has a use value, it must have an exchange value

B. A good has a high exchange value if it has a high use value

C. The total use value of a good is the intrinsic value of that good

D. The marginal use value of a good to a person depends on the quantity of that good which he already possesses.

7. consumers’ surplus is

A. the difference between the quantity demanded and the quantity supplied

B. unsatisfied consumer demand

C. unspent income

D. the difference between the aggregate amount consumers are prepared to pay and the amount they do pay.

8. If good X and good Y are perfect substitutes, then the cross elasticity of demand of either one of them is

A.zero

B. one

C. infinity. 

D. insufficient information to answer

9. Which of the following is an application of the law of demand

A. if taxi drivers levies additional charge per trip regardless of the distance, the ratio of short to long distance trips will increase.

B. The longer the waiting time, the longer the queue.

C. The withdrawal of consumption on an inferior good as the real income rises.

D. The over-consumption in buffet dinner.

10. In the first three quarter of 1997, the price of the flats increased by more than 30%, but the number of flats being bought and sold increased at the same time. While in the last quarter, the prices crashed and the number of flat buyers is greatly reduced, too. This phenomenon

A. reject the law of demand

B. can be explained by changes in people’s expectation on future price

C. implies that the income elasticity for flats is negative

D. implies that flat is a giffen good.

Section B: Essay type questions

1. Free good is characterized by zero price (zero price does not imply free good). The following figure displays a marginal use value schedule for a free good.

Show the 
a) total exchange value




b) total consumer surplus and




c) total use value in the figure above. Explain.



(8 marks)

2. A good quality wine, is sold at a price higher than that of a poor-quality wine, B.

a) suppose the government imposes a per unit tax on all wine. What will be the change in the absolute amount and relative amount of consumption on wine A and B respectively. 











(7 marks)

b) If good X has a positive cross elasticity of demand with respect to wine, is good X a complement or a substitute to wine? What would be the effect on the consumption of good X after the imposition of the tax on wine? 



(4 marks)

c) What would happen to the total revenue of wine and good X respectively after the imposition of the tax? 









(5 marks)

Answer

Section A

1. D

2. B

3. B

4. B

5. D

6. D

7. D

8. C

9.D

10.B

Section B

1. The total exchange value is zero. Explanation: TEV=PxQ=0xQ=0




(3)

The area below the MUV curve is the consumer surplus as well as the total use value

Explanation: TUV=TEV+CS=0+CS=CS









(5)

2.a) After the imposition of a unit tax, the absolute prices of both types of wine increase. 
(1)

As the percentage increase in the absolute price of wine A(wine of better quality) is smaller than that of wine B(wine of poor quality), the relative price of wine A drops while the relative price of wine B rises. 









(1)

By the law of demand, the market share (the relative amount of consumption) of wine A rises while the market share of wine B falls, due to the change in their relative prices.
(1)

As the absolute price of wine A rises but its relative price drops, the change in its absolute amount of consumption is uncertain.








(2)

As both the absolute price and relative price of wine B rise, its absolute amount of consumption falls. 













(2)

b) When the absolute price of wine (wine in general) rises, quantity demanded of wine drops. 















(1)

Given a positive cross elasticity of demand between wine and good X, when the price of wine rises(due to imposition of a tax), quantity demanded for X rises because good X has a positive cross elasticity of demand with respect to wine.





(1)

As quantity demanded of wine and good X are negatively related, they are substitutes.(2)

c) After the imposition of the tax, price of wine rises and quantity of wine drops. Total revenue depends on its price elasticity of demand.







(3)

As quantity of wine drops, quantity of X rises. With price of good X remains unchanged, total revenue of good X rises.











(2)






































































